**EXHIBIT JJSR-1** 

....

#### ACCOUNT 341 STRUCTURES AND IMPROVEMENTS

	ORIGINAL	CALCULATED	ALLOC. BOOK	FUTURE BOOK	REM.	ANNUAL
YEAR	COST	ACCRUED	RESERVE	ACCRUALS	LIFE	ACCRUAL
(1)	(2)	(3)	(4)	(5)	(6)	(7)
INTERIM PROBABL	E PRAIRIE - CO SURVIVOR CURV E RETIREMENT Y VAGE PERCENT	E., IOWA 55-R EAR 10-205	="			
2014	7,028,693.10	94,809		7,309,841	38.06	192,061
	7,028,693.10	94,809		7,309,841		192,061
CO	MPOSITE REMAIN	ING LIFE AND	ANNUAL ACCRUA	L RATE, PERCENT	г 38.1	2.73

#### ACCOUNT 342 FUEL HOLDERS AND ACCESSORIES

	OR	IGINAL	CALCULATED	ALLOC, BOOK	FUTURE BOOK	REM.	ANNUAL
YE.	AR	COST	ACCRUED	RESERVE	ACCRUALS	LIFE	ACCRUAL
(1	_)	(2)	(3)	(4)	(5)	(6)	(7)
INT	BABLE RE	AIRIE - COMI VIVOR CURVE TIREMENT YEA PERCENT	IOWA 50-S	• , •			
20	14 10,54	13,039.65	154,713		10,964,761	34.94	313,817
	10,54	13,039.65	154,713		10,964,761		313,817
	COMPOS	TTE REMAINT	NG LIFE AND	ANNUAL ACCRUAL	RATE PERCENT	34 9	2.98

#### ACCOUNT 344 GENERATORS

	ORIGINAL	CALCULATED	ALLOC. BOOK	FUTURE BOOK	REM.	ANNUAL
YEAR	COST	ACCRUED	RESERVE	ACCRUALS	LIFE	ACCRUAL
(1)	(2)	(3)	(4)	(5)	(6)	(7)
INTER PROBA	ENNE PRAIRIE - CO RIM SURVIVOR CURV ABLE RETIREMENT Y SALVAGE PERCENT	E IOWA 45-R EAR 10-205	_			
2014	38,657,812.05	531,901		40,204,125	35.05	1,147,051
	38,657,812.05	531,901		40,204,125		1,147,051
	COMPOSITE REMAIN	ING LIFE AND	ANNUAL ACCRUAL	RATE, PERCENT	35.0	2.97

#### ACCOUNT 345 ACCESSORY ELECTRIC EQUIPMENT

	ORIGINAL	CALCULATED	ALLOC. BOOK	FUTURE BOOK	REM.	AMMUAL
YEAR	COST	ACCRUED	RESERVE	ACCRUALS	LIFE	ACCRUAL
(1)	(2)	(3)	(4)	(5)	(6)	(7)
INTER PROBA	ENNE PRAIRIE - CO RIM SURVIVOR CURV ABLE RETIREMENT Y BALVAGE PERCENT	E IOWA 40-S EAR 10-205	=		•	
2014	10,543,039.65	156,248		10,964,761	34.60	316,901
	10,543,039.65	156,248		10,964,761		316,901
	COMPOSITE REMAIN	ING LIFE AND	ANNUAL ACCRUA	L RATE, PERCEN	r 34.6	3.01

#### ACCOUNT 346 MISCELLANEOUS POWER PLANT EQUIPMENT

YEAR	ORIGINAL COST	CALCULATED ACCRUED	ALLOC. BOOK RESERVE	FUTURE BOOK ACCRUALS	REM. LIFE	ANNUAL ACCRUAL
(1)	(2)	(3)	(4)	(5)	(6)	(7)
INTER PROBA	NNE PRAIRIE - CO IM SURVIVOR CURV BLE RETIREMENT Y ALVAGE PERCENT	E IOWA 30-S EAR 10-205				
2014	3,514,346.55	62,828		3,654,920	28.59	127,839
	3,514,346.55	62,828		3,654,920		127,839
	COMPOSITE REMAIN	ING LIFE AND	ANNUAL ACCRUA	L RATE, PERCENT	r 28.6	3.64